[bookmark: Title][bookmark: DocumentFor][bookmark: _Toc193024528][bookmark: OLE_LINK23]3GPP TSG-RAN WG4 Meeting # 101-e	R4-2119051
[bookmark: _GoBack]Electronic Meeting, Nov 1-12 2021


[bookmark: OLE_LINK25]Title: 	Simulation results on CRS-IM receiver
Source: 	Huawei, HiSilicon
Agenda item:	8.12.2.3
Document for:	Discussion
Background
As per WF[1], we provide our simulation results for CRS-IM receiver 
Simulation results
As RAN 4 has agreed to define the requirements for CRS-IM receiver in scenarios with overlapping spectrum LTE and NR and LLR weighting is considered as baseline but CRS-IC is still not excluded, we provide our simulation results as follows for these two types of receiver and baseline receiver (Without any CRS handling).
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[bookmark: OLE_LINK112]Figure 2-1: Simulation results for scenario 1
Simulation results for scenario 1 are shown in Figure 2-2:
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Figure 2-2: Simulation results for scenario 2
Summary of CRS-IM simulation results:
Table 2-1: Summary of CRS-IM simulation results
	Target SNR(dB)
	MCS 4
	MCS 13

	[bookmark: _Hlk83713675]
	4T2R
	4T4R
	4T2R
	4T4R

	[bookmark: OLE_LINK117][bookmark: _Hlk83713909]Scenario 1
	Baseline
	2.1
	-1.1
	10.6
	7.1

	
	LLR weighting
	-0.5
	-4.0
	8.2
	4.4

	
	Gain of LLR weighting vs baseline
	2.6
	2.9
	2.4
	2.7

	
	IC
	-1.5
	-4.9
	7.3
	3.4

	
	Gain of IC vs baseline
	3.6
	3.8
	3.3
	3.7

	Scenario 2
	Baseline
	1.0
	-2.4
	9.9
	6.6
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	LLR weighting
	-0.8
	-3.4
	7.8
	4.6

	[bookmark: _Hlk83715379]
	Gain of LLR weighting vs baseline
	1.8
	1.0
	2.1
	2.0

	
	IC
	-1.7
	-5.1
	7.1
	3.5

	
	Gain of IC vs baseline
	2.7
	2.7
	2.8
	3.1



Conclusion
In this paper, we provide our simulation results for CRS-IM receiver.
Reference 
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